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Yov,t =

1 1if stand v is harvested
in period t.

0 otherwise
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diNotation
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Yov,t =

1 1if stand v is harvested
in period t.

0 otherwise
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DNheC Constraints

1 if stand v is selected to be old-growth /reserve

0 otherwise




1 if stand v is selected to be old-growth /reserve
Ly — :
0 otherwise

Z 2oy > 2+ 2y — 1 Y u, v For every cut S

weS separating v and v
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brce ConnectivitylConstraints

1 if stand v is selected to be old-growth /reserve

2y = .
0 otherwise
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For every cut S
E Zw > 2yt 2y — 1 YV u, v Y
weS separating v and v
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For every cut S

separating r and v
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a, = area of stand v




a, = area of stand v




g Plane Procedure
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Zszzu+zv—1
weS
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Find cut S™ that separates

u, v and minimizes E z
wEeES™*

Use max-flow solver
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* — current solution
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For every pair u, v

check if 2z, + 2z, —1 >0
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I Z 2o < zo 4z — 1
wES*
add cut
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